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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv) This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

1. Market forces of demand and supply, actively interact under

exchange rate system to determine the foreign exchange rate.
(Choose the correct option to fill in the blank) 1
(A) fixed
(B) flexible
(C) managed floating
(D) fixed floating
58/5/2 # 3| Page =45 P.T.O.



®collegebaitch con

2. TFfaIRad oAl sl SrmYEe ufeu : 1
FIT 1  FATCHITRIT AT o G, TRt TS T o1 ek 19T (Repo) S H Ihg
FLFRATE |
FIF2 . WEHR G ISR H W Gfaqfodll (G-Sec) o d §RT Hawhifdepi
ST T T L T 2 |

fau T et o 3Teties W, FfeTRad § & gt foehed o1 =i Shifse
(A)  FU 142 FAHIT 2 FEA 2 |

(B) 13T E INFIT2HAR |

(C) FAT1IM2IA AR |

(D) o 1 3R 23T STAAE |

3. T o forgid & Adqiid, “Hed W (Reference line) H@ﬁgﬁ IV T
Eif<t ST et wen e @ R |
(kT <1 fd o foTq Hiet forshed 1 == i) 1
(A)  25°
(B) 45°
(C) 55°
(D) 75°

4. 2023 — 24 % HET SIS H TA HATHS! o ITAR, TR hH1 Hel TERAT (0T o5
HAfATh) T FT AT A T 20 A FUS TAT T 45 AR FUS IAATHG & | 374
T T qeI T 25 AT FUS BATT |
(kT <A1 g o ToTq Biet forshed & s HINT) 1

(A) TS
(B) USRI
(C) <R
(D)  wrrfiek
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2. Read the following statements carefully : 1

Statement 1 : During deflationary gap, the Central Bank of a country
may increase the repo rate.

Statement 2: The government can reduce the deflationary gap by
purchasing Government Securities (G-Sec) in the open
market.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D)  Both Statements 1 and 2 are false.

3. Under the Keynesian theory, ‘Reference Line’ is a straight line passing
through the origin drawn at an angle of

(Choose the correct option to fill in the blank) 1

(A)  25°
(B)  45°
(C) 55°
(D) 75°

4., According to the data presented in the Union Budget 2023 — 24, the total
receipts of the government (other than borrowings), and the total

expenditure are estimated as ¥ 20 lakh crore and ¥ 45 lakh crore

respectively. Therefore, the value of deficit would be ¥ 25 lakh
crore. (Choose the correct option to fill in the blank) 1
(A) revenue

(B)  fiscal

(C) trade

(D)  primary

58/5/2 # 5| Page =45 P.T.O.
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5.  MEIRId oAl il AHYEe leU : 1
Fo 1 Wi T9RT YGRT (MPC) T 3T $hTS SUHIT ohl TG RId FLaT € |

FIF2 . U et 331 T U A | g Bl 8, STHIT H AT IR o
T A g & 377k el 2 |

few T sheT o 3TTeties |, FFfeTRad § & gt foehed o1 =i hifse

(A) FIT 1T EIANHAT 2 IR |

(B) 13T INFIT2HIR |
(C) FHIT1IN2IAMTIE |
(D) FHIT1IN2IAIAEIR |

6. Tt fg-anftr srefeemen A, E) I Se aug qfd
IECRURCTIRS IR CT IR (kT sht 91 o fTe well forshed 1 I hISE) 1
(A) 39T, Hewr
(B) fawr, s=@
(C) 9N, ST
(D) o=q, fata

7.  Twfafad et s eamgEe afey : 1

FHYT 1 Tord TR & o foesft gemar (Foreign aids)ﬁﬁmmﬁél
FIYT2 . Tl O arhR it uiErdE Ol ST sl ? |
few T sheT o 3TTeties |, FfeTRad § & gt foehed o1 =R hifse

(A) FIT1TI L INHAT 2 IR |

(B) 13T INFIT2HIR |
(C) HYT1IN2TNEaTE |
(D) HIT1IN2IA IAHT R |
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5. Read the following statements carefully : 1

Statement 1 : Marginal Propensity to Consume (MPC) exhibits the
consumption per unit of income.

Statement 2: As the national income of a country rises, the
proportionate increase in the consumption is always more
than the increase in the income.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

6. In a two-sector economy, Aggregate Supply can be determined by adding
and
(Choose the correct option to fill in the blanks) 1

(A)  consumption, investments

(B) investments, savings

(C)  consumption, savings

(D)  savings, exports

7. Read the following statements carefully : 1

Statement 1 : Foreign aids are the capital receipts for the government.

Statement 2 : Disinvestments may lead to a decrease in the assets of the

government.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

58/5/2 # 7| Page =45 P.T.O.
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8.  Twfaiiad o & 3w fufd =l vg=niig, ST ferell g o ST Hei (BOP) @i H =Te]
TTd R (CAS) =l i STt 7 | GHAEE EARCRERC IS I N
(A) =] @Td Sl STTHAT ST <] WTd o STAHI 9L AT
(B) =T @Td shi TTHAT & =ITe] W o Y1 H GHAT
(C) ST o WA ol =Te] WTd 3 SR 9T SATfeer
(D) ST o WA oAl YSil @Td shi SRR O ARy

9. TSR {ed W 36 AT I16 (NVA, ) T 4T T L G, TSR 4o W kel
i g (GVA, ) #/H & Edl STHT =TfeT |
(T T2t =61 it o fore @&l forereq 1 <M hINE)

(A) HIBH, Sliel

(B)  HeIgH, U

(C) 3G YT FH, 421

D

(D) (S AT R, S|

10. g I foh, FHTARad § & -1 T |asT(eh 9% ol aTvid 78T T 2 | 1
CHAEETREIREREEAISIY)

(A) TN ERT IYTeH HUC Y H:3[eeh ETeh (Fefi)
(B) &1 3N Y& T&1T &y

(C) Toret =afer g IoTd foohe o1 h

(D)  Torefl STt it TRUTictehTt R MU T &8 (Street light)

11, “9Rd o AT Heeor 2022 — 23 % AR, Y-TSHITAR GO o J1gwia o Hor
3T I 3U o AU et | g 88 off | 37 TR shl HERIaT giRead i o g
S I IoiToh SUGH 1 HTIIHAT H Tl 85 off |”
fou 7T Ty 3 TR O, GTRR o 31 SIie 38 shi Ug=H I SRS Shifalu | 3
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8. From the following, identify the situation which indicates the Current
Account Surplus (CAS) in Balance of Payments (BOP) account of a
nation. 1

(A)  Excess of receipts on current account over the payments on current
account.

(B)  Equality of receipts on current account and payments on current
account.

(C)  Excess of payments on current account over receipts on current
account.

(D) Excess of payments on current account over receipts on capital
account.

9. To arrive at the value of Net Value Added at Market Price (NVAMP),

must be to/from Gross Value Added at Market Price
(GVA,1p)- (Choose the correct option to fill in the blanks) 1

(A) depreciation, added
(B)  depreciation, subtracted
(C) net indirect taxes, subtracted

(D) net indirect taxes, added

10. Identify, which of the following does not represent a public good. 1
(Choose the correct option)

(A)  Free vaccines provided by the government
(B)  Defence services provided by the military
(C)  Purchase of railway ticket by an individual
(D)  Street light installed by a city municipality

11. “As per the Economic Survey of India 2022 — 23, due to the outbreak of
geopolitical conflict, the result was higher international prices for
fertilizer and fuel. Thus, there was a higher fuel and fertilizer subsidy

requirement for supporting the people.”

On the basis of given text, identify and explain the indicated objective of

the government budget. 3

58/5/2 # 9| Page =45 P.T.O.
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12. () FAfafiad sreafiss stiwst o ATUR 9T, 2020 — 21 1 ATER a9 7 g, a9
2022 — 23 ¥ ATl gl =X 3cde (GDP) # Sl gierds sht TuHT
hIfS | 3
(@t e T FIS H)
v ATHHTA Gehed | HTHHTA Gohel 9ic] 3418
W 3UR | (MHR Y % Gl %
TR GHAIII)
2020 - 21 3,000 5,000
2022 — 23 4,000 6,000
EOEN
@) = fafer o Aaia, TS 3T & SATehai § Helferd TROT T Seoid hifSu | 3
13. A ST R, 1 shieafen sTfeawemsti A & B @ fofu, €iwid s=a yafd (MPS) &
T SRAST: 0-2 AT 0-4 § |
1 srefereustt & foiu, @R UMW () = ¥ 400 Fe @ qur fHew
=T (I) =% 2,000 TS T |
freferfaa <t omr Fifste
(@)  3refeerT A o foTu 31 &1 o1 TR (Break-even level) | 2
(@) 37T B % foTT S T Hqe &l | 2
14.  Trefeiad e = egee sTerg i
Teh AT H, GHT AT H Ieoig- 1 hHT 3, 237 oh Wi sht Torehme §vTeTeTl o s
H oA a1 R &t € | I8 ITieieR W, TEedi o fovard ® gfg R q°n i
Tfaferfer s Tieanea s o fw wrHifaes 3R skt deshlad STTI9IehdT skl Wdifohd Shid
g
S9Yh TR qAT | JH o ATER W, 37 TR Hl e Hive {ie awwr Fiée
Teorfa =0t feer &7 & T s Tl 2 | 4
15. (F) “2023 — 24 & <, US $ 70-9 Bn & Jcaer faesft faer (FDI) siqdies o
US $ 324 Bn & Y€ fooeit qidwiferat fawr (FDI) sidaie & |19 W
ST el qitar ol STwd foRar a2 |
(i)  39Uh AT = % e I T HIT | 2
(i) T HIAH o [h8 @Td H 3UYh Hal ol &1 [T SITQIT o i ? 2
AASAT
(@) AT HINT fof, T -3 e JehR GRS o071 8 =T 8Id 2 | 4
58/5/2 # 10| Page =
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12. (a) On the basis of the following hypothetical data, calculate the
percentage change in Real Gross Domestic Product (GDP) in the
year 2022 — 23, using 2020 — 21 as the base year. 3
(All figures in T crore)
Year Nominal Nominal GDP (Adjusted
GDP to Base Year Price)
2020 — 21 3,000 5,000
2022 — 23 4,000 6,000
OR
(b)  State the steps pertaining to the estimation of National Income,
under the Expenditure Method. 3
13. Suppose for two imaginary economies A and B, the values of Marginal
Propensity to Save (MPS) stand at 0-2 and 0-4 respectively.
For both the economies, Autonomous Consumption (¢ ) =¥ 400 crore and
Investment Expenditure (I) =¥ 2,000 crore.
Calculate the following :
(a)  Break-even level of income for Economy A. 2
(b)  Equilibrium level of income for Economy B. 2
14. Read the following text carefully :
In an economy, a significant reduction in Aggregate demand raised
concerns about future growth prospects of the country. This economic
downturn underscores the urgent need for strategic measures to boost
confidence of households and stimulate economic activities.
Based on the above text and common understanding, explain the
measures which the government may take to stabilise the indicated
situation. 4
15. (a) “The Indian economy has witnessed a sharp turnaround during
2023 — 24 with Foreign Direct Investments (FDI) inflows of
US $ 709 Bn and net Foreign Portfolio Investments (FPI) inflows
of US $ 324 Bn.”
(1) Distinguish between the above mentioned economic
variables. 2
(i1) In which account of Balance of Payments will the given
variables be entered and why ? 2
OR
(b)  Explain how Accommodating Transactions differ from Autonomous
Transactions. 4
58/5/2 # 11| Page =45 P.T.O.
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16. (%) () forelt Tz H 100 AC R WA SEIATA o AT ¥ feferaer §
kel ] 3cUTe (GDP) o SheaTul UL SwTlerd TWTall shl STREAT shifST |
(i) 9 ST for, Tk seafaes srdeaeen d had T & A, B3R C 2 |
e fAfSra wrmeft & S, 399 g fferfiad dea ferr e E
(I) %4 A9 %H BT 2,000 7T %4 C I 1,200 3% He T HTA
IEERREZIN
(II) %4 B %H AT 1,100 791 %4 C I 3,500 o He T HIA
IEERRETIN
(III) &H C A %A1 1 % 5,700 o Hed o HIdA o1 JAfH 30T o fag
IEERREZIN
€ AT FU HT AT T 240 M §Y, TGT ARG T Fhel BT
STUTE (GDP,,) % Hed i SIAH ATy |
STt
@ () T HAiwSt % ATIR W, WL ANTd R 5 e 346 (NDP )
T ShT STIAT ST
#.4. 73 afs
& g H)
(i) | BN STHIT 1,800
(ii) | EheT SATaTiER Tl St iy 1,150
(iii) | Toat e fAmior ==y 1,020
(iv) | SIehr Sifag Savm == 2.170
(v) | Fafa o s s et 720
(vi) mmﬁ (Inventory) IECH] 540
(vii) | FIoheT GTaSI{eh fasT 1,300
(viii) | Y[S ST F 240
(ix) | foeen & uTe 3 Rk A (=) 250
(x) | ST ISt ot 3T 440
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16. (a) (1) Explain the likely impact of construction of 100 new super
speciality hospitals in a nation on Gross Domestic Product
(GDP) and welfare in the economy. 2

(i1) Suppose, there are only three firms in a hypothetical
economy, viz. A, B and C. During a given period of time, the
following transactions were undertaken by them :

(D Firm A sold goods worth ¥2,000 to Firm B and
¥ 1,200 to Firm C.

(I)  Firm B sold goods worth ¥1,100 to Firm A and
Z 3,500 to Firm C.

(ITI) Firm C sold to households for final consumption, goods
worth Z 5,700.

Estimate the value of Gross Domestic Product at Factor Cost
(GDPp), assuming the value of Net Indirect Taxes to be

T 240. 4
OR
(b) () On the basis of the given data, estimate the value of Net

Domestic Product at Factor Cost (NDPg) : 3
S.No. | Items (i??g{gﬁe )
(1) Household Consumption Expenditure 1,800
(i1) Gross Business Fixed Capital Formation 1,150
(i1i) Gross Residential Construction Expenditure 1,020
(iv) Government Final Consumption Expenditure 2,170
(v) Excess of Imports over Exports 720
(vi) Inventory Investments 540
(vii) | Gross Public Investments 1,300
(viii) | Net Indirect Taxes 240
(ix) Net Factor Income from Abroad (=) 250
(x) Consumption of Fixed Capital 440

58/5/2 # 13| Page =45 P.T.O.
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(i) o 3anT Sy et el Al Bt 7 1
JY Toh W AT 7T e T qHT 7 Wed HIT | 3
17. (&) “frell g #, Mafd sl d@urem, gew sniie afdfafrr daeT
glargTsieR S o ToTu forf-er o Te e arem o fsft sFean 2 1
2T o [T SRl o e 7 == i | 3
(@)  HST A oh M, A9 1 37 o Shi i St hifs(y | 2
(M) e TUreh 6T TUMT o b1 G fafay | 1
CLERC)
W 3Tieies farermar
18.  FocHdl U I H, W o Afd HATrstl = germ _ e AT o foru
ST ISR fe=m o |
(feeh T <1 qfdd o foTq Eelt forshcd o1 sRF AIRTT) 1
(A) 6
B) 7
(C) 8
D 9
19. YEIN SIS foh, YRA § TTHOT ST gored] o Hed ¥ Fefaiad 3 § siH-a1 d
AT T ? (TEt foaehed T A HIfST) 1
(A)  WTRA H TTHOT ST SOt H Sg-UseT EEerHi T T THE |irterd & |
(B)  EocIdT SWid Y H, YR H Uk FaTe &9 § GXfwra wrfior sifer yoredt 6
T fepam T o |
(C)  &f TrTeior Sfh, TEehrdl & U el ofeh ST H THT SifekT SorTett o =eeh & |
(D) WA ¥ urHior ST gonelt YR e d% & gnieyH, ey 9 waer &
Jiaid FE FATR |
58/5/2 # 14| Page ot
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“All consumption goods are durable in nature.”

Defend or refute the given statement with a valid argument.

“In a country, routine economic operations rely on a stable
medium, to facilitate transactions for maintaining smooth
economic activities.”

Discuss briefly the indicated function of money.

State the meaning and components of M; measure of money
supply.

State the formula to compute Credit Multiplier.

SECTION B
Indian Economic Development

18. In the post-independence era, the policy makers of India emphasised on

‘self-reliance’ for the first Five Year Plans.

(A)
(B)
(C)
(D)

(Choose the correct option to fill in the blank)

© 0 g O

19. Identify, which of the following statements is incorrect about the Rural

3

Banking system in India. (Choose the correct option)

(A) The Rural Banking system in India consists of a set of
multi-agency institutions.

(B) In the post-independence period, a well-structured Rural Banking
system was formulated in India.

(C)  Regional Rural Banks, Cooperative and Land Development Banks
are components of the Rural Banking system in India.

(D) The Rural Banking system in India works under the guidance,
instruction and supervision of the State Bank of India.

58/5/2 # 15| Page =45 P.T.O.
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20. UEHM hiTSIT foh, TATOT oh R o Hed § fHHTiRad | & hi9-81 I JqeT & ?
(@& forcd FITA FINT) 1

(A)  YFTeROT HHETEH SUTsY AT 2 |

(B)  UTauT YU i AN AT 2 |
(C)  wTaRoT Sfia 3T 9IS HLdT & |

(D)  ATeoT Sffa T TUrET o &7 AT & |

21. fIAfafgd AT — 31feRed (A) 3T HROT (R) T 3TE934 ShifSTd |

T few v faehedt 1 O wET faeneq o1 =9 il 1
I (A) : 1991 H TR fop U forefter &= Germl o 3favid, stenl # foraeft foemr st
T ST 74% ok ST &1 TS off |
PR (R): 1991 % 39T, feresft deemTa fawrent (FIIs) ot YRd Y faxfia sstrt
o ferer she T oTAfa T €S oft |
IEETE
(A)  AMNFAT (A) 3R RO (R) SFT T & 99T FHRT (R), 3AThe (A) F Tt
ST AT R |
(B)  AMYHAT (A) 3T FRT (R) THT TT & AT 0T (R), AMMFHAT (A) it Tt
AT T&T FAT ¢ |

(C)  AMFHIT (A) GcT &, Afohd T (R) T ® |
(D) 3T (A) 3THH &, AfRT U1 (R) T |

22. “HW SIS ok, Tk shiedler Helsgaeen ardfaes dehal =il 3ciie (GDP) H gfg
1 Reurfer i ST o T 2, STafen TefeaEe § AR o T & vy gfg T &
wie 1

Ut feerfe sy, stifelen s Seft & i FET AT |
(Foeh T <61 gfd o foTq wielt forshed =1 =—IA hfSTY)

(A) I (Casual)

(B) IIU=T
(C) Ny
(D) SR fodi=

58/5/2 # 16| Page B



“®collegebatch con

20. Identify, which of the following statements is imncorrect about the

functions of environment. (Choose the correct option) 1
(A)  Environment provides resources.

(B) Environment absorbs wastage.

(C)  Environment sustains life.

(D) Environment deteriorates quality of life.

21. Read the following statements — Assertion (A) and Reason (R).

Choose the correct alternative from the options given below :

Assertion (A) : Under the financial sector reforms introduced in 1991,

foreign investment limit in banks was raised up to around
74%.

Reason (R):  Foreign Institutional Investors (FIIs) were allowed to

invest in Indian financial markets, post-1991.

Options :

(A)

Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
22. “Suppose an imaginary economy is experiencing a situation of rise in

Real Gross Domestic Product (GDP), without any corresponding adequate

rise in the employment opportunities in the economy.”

In economic parlance, such a situation is termed as growth.
(Choose the correct option to fill in the blank) 1
(A) Casual
(B) Informal
(C)  Formal
(D)  Jobless
58/5/2 # 17| Page =45 P.T.O.
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23.  TmfciRad ol ol eamgees ufeu : 1
o 1 Tsifewr At & FROT IRATS seferaea % fodtas o g ae § S=
HET H USATR YT g7 T |
FIT2 ;. INUMHANRTH GERR o TEHTHT i o TR skl ITEdfaeh 39 T
fedt ot AmTfeard SR o |
feu U oMl o 31T |, FREfafgd § @ g2t foshed o1 ==a fifsig
(A) FAT1HIE AN FHIT2 IFIR |
(B) U133 ANFIT2TTE |
(C) F1IAN2I TR |
(D) U 13N 2T A2 |
24. TFIRIT oAl I IS UleT : 1
F99 1 HER FA FAdH G0 4o (MSP) W T 71T Wrer= & 37 i T
EhFEIH @AM |
FIYT2 ;.  IAAH queT ged (MSP) FN Ie1e gt § forelt oft offer fiRree o foeg,
! ] L& JaTH FLAT § |
feu U oMl o 31T |, fAEfafad § 9 g8t foshed o1 = s
(A) FIT1TTE A FHAT 2 3T T | B) FHIT1ATILINFIT2HAR |
(C) FIT1IRN2TATTE | (D) FHIYT 1323 ATTE |
25.  TIIRad = o1 eaqeish STea hIfS ; 1
fufsra snfeler yomeft
% _,E
E tad HIGEIG
4
?
frfafaa o @ 0w fosrea &1 =99 ST, ST 1947 6 79T & SWid 9Rd o
qferEdT shl i T THTaTsty i 3 ar e (e faehe 1 =39 FIf)
(A) el hma- et ifd (B) R Tl
(C) AT Fidemy (D) W& GaERT HiEh(ceh shifd
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Read the following statements carefully : 1

Statement 1 : The British policies led to huge employment generation in
the secondary and tertiary sectors of the Indian Economy.

Statement 2 : The real motive of the colonial government’s infrastructural
development was to benefit interests of India.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

Read the following statements carefully : 1

Statement 1 : The purchase of food grains, made by the government on
the Minimum Support Price (MSP), is maintained as buffer
stock.

Statement 2 : Minimum Support Price (MSP) safeguards the farmers
against any sharp fall in farm product prices.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Study the following image carefully : 1

Mixed Economic System

Green Revolution

Similarities in Policies of
India and Pakistan

ig

From the following, choose the correct option which indicates similarities
in the policies of India and Pakistan, in the post-1947 period :

(Choose the correct option)
(A)  Dual pricing policy (B) Commune system
(C) Import substitution (D) Great Proletarian Cultural Revolution
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T AT o F A W, ff T SR f et s 3cqred . & fofaefisor
FHETHSHTSIATR | (Treh T <A1 g o foT |t foehed 1 oA hifST) 1
(A)  wEd

(B) Y Icared

(C) &l |TerT

(D) TUSTIR

frforfiad ol — iR (A) TR HROT (R) 1 STee hifsg |

Frr few 7w foeredt | @ w2t faered o1 == FifSe 1
HEHI (A) : AN AW T 3= TSR (S T Rren o wameean) € wsiferd gemm a6

EANIE= TGRS

FRU(R): WA YSi &7k o FRITAH SANT o oA FEmT 0 =0 ST ¢ |

IEETR

(A) AR (A) TR FHWOT (R) ST 9T & qAT HR (R), AR (A) Ff T
AT FAT# |

(B) AR (A) 3T HWT (R) IHI 9T &, TR FRT (R), AR (A) i Tt
ST 78T T & |

(C) AT (A) HT &, Aok 0T (R) T # |

(D) IR (A) 318 B, AfhT RO (R) I & |

frefcTiRad HATehel =1 ST Fd U, Hehcd alRid Hed (GVA) H WRA I UTihed™

&A1 e w61 fergetyor FifsTe | 3
2018 — 19 H USTIR Td € Ale/d T (%) & &A1 331
Gl Afeld 4o H qNTaTH FrefereT &1 faraor
4 YR o9 | wfetaE | 9Ra | W9 | giEeaH
Bkl 16 7 24 43 26 41
sam | 30 41 19 25 28 24
e 54 52 57 32 46 35
= 100 | 100 100 100 | 100 100
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26. Production of diverse varieties of crops, rather than one specialised crop,
is known as diversification of
(Choose the correct option to fill in the blank)
(A)  Crops
(B)  Agricultural Production
(C)  Sectoral Composition
(D) Employment
27. Read the following statements — Assertion (A) and Reason (R).
Choose the correct option from the options given below :
Assertion (A) : People spend to acquire information related to labour and
other markets (like, education and health).
Reason (R): Expenditure on information is necessary for efficient
utilisation of the human capital stock.
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
28. Using the following data, analyse the sectoral contribution of India and
Pakistan towards Gross Value Added (GVA).
Sectoral Share of Employment and GVA (%) in 2018 - 19
Soct Contribution to GVA Distribution of Workforce
ector
India | China | Pakistan | India | China | Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100
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29. (F) “1991 % ATk IR % SN WRA TR T TR hl 1§ AR R Hofw1
fifer o Tt S o Hel # %o e ol aftafad o 1
foreel 31w fofal ofi wRdRr steferaeen W 3 ymEt T forear & ==
I |
rera
@) “vrg ¥ fafew fuftafyes s & ufvomreey yRds @Rt ST &
afted &9 ¥ fqaftaieror g o |
e ol 5T STUST o 3L 3831 hl SATEAT I |
30. U T 51, i F fareqa e shifsi fof fmferitad svem g & s1ee
(F) TV il o T8d SIRTAHT H SToREE 4 s, Forae vTd 39 & 4 forea & st
S|
@) BIe R HTiq Fuehi bl & T Sk, TEhRT sieh MG S8 T-HEITTd Jidr
T ST ITH A | TR & STt 2 |
31. TiwfaRad e st earyes ufeu :
< 7 T STIIFET BT TedTied i o foTe &2 fiferra uftad fere o |
1970 9T o 3iq | fafer= &t o =i ot omifdfer afg offer & off | grcifer, e a1
3 ST aREde o g sigd wrefterr et ol off | Wi sht Heweol srfies s
1991 o ST Ui o 3T & 9w o1 13 off, w2 wtedl o shror n] foram
a1 |
foQ 1T Ty F AT I o ATIR W, = 9 YRA ST TR o6 71T G o el st
NELCITIE]
32. (F) () HESUSH S Hifoeh YSft o wer Sa e R |
(i)  GRof forerme T TR shifse |
aroraT
@) () IO R § -0 wrEi o Aew W Had § 9uid Aife |
(i) 9Rd & gref fasme gmw = # aftafea freft we wrHifa &1 Seoa
HiT |
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29. (a) “The trade and investment policy initiated by the Indian
Government during 1991 economic reforms involved some major
decision-making with respect to local industries.”

Elaborate any two major decisions and their respective impacts on

the Indian economy. 3
OR
(b)  “British colonial rule in India resulted into systematic

deindustrialisation of Indian indigenous industries.”

Explain the two-fold motive of the British with valid arguments. 3

30. State and elaborate, whether the following statements are true/false,
with valid arguments :

(a) Under the Golden Revolution there was tremendous growth in
horticulture, making India the world leader in this field. 2

(b) Small and marginal farmers are given preference in getting
credit from non-institutional sources like Regional Rural Banks,
Cooperative Banks, etc. 2

31. Read the following text carefully :
China underwent substantial policy changes to stimulate their economy.

China’s economic growth was rapid in the late 1970s across various
sectors. However, India had to wait much longer for its economic
transformation. India’s significant economic progress was only realised
after the economic reforms of 1991, which were implemented out of

compulsion.

On the basis of given text and common understanding, compare the
impact of subsequent reforms initiated by China and India. 4
32. (a) (@) Distinguish between human capital and physical capital. 3
(i1)  Define Sustainable Development. 1

OR

(b) () Describe briefly the importance of micro-credit programmes

in Rural India. 3

(ii) State any one strategy involved in attaining sustainable
development in India. 1
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33. fwfciRad e st earye ufeu :
o o7 WTeRT g8 (LFPR) foreft T5¢ O i ST |fsha &9 8 USHIR shl aamsT
FT @ AfHAT o Tfaed o AT & | YR §, 2000 — 2019 % HEF 29 & H
99-2 Taferam SAferRat 1 Ifg g3 off | 27 91 396-3 THieR & Sgaht 495-5 Tl &
T T |
2012 — 2019 % N, USFIX H THE Jlg o o1 o7 o § g8 I & USRI o
oIl 8% of |
T o 9 ISR H ATeh AT Seaaq 1T §, 2022 H AfFATsl i o1 9o 9riier)
2 (LFPR) 32-8% &, ST fo T&qi sht 1 et Wifierl & (LFPR) 77-2%, § T
g | I 9RA HT §H AT #H oA WAERT & (LFPR) &1 TF Y@ %R 2, ST {6
Jfares ofted o9 oI YrieRt s (LFPR) 47-3% G &0 # |
2000 — 2019 & R, TTHIT 97 ot AT & (LFPR) § 14-1% i fitEe oT$ 8,
Saifer et @ § 3-5% 1 fiwrae o1E off | 2019 — 2022 % e FE YT YA T,
Trior 2 et IrfERT @ (LFPR) T 6% (foeiwert omior afgetrst #) 3t wredt sm
I 9TfER! @ (LFPR) § 2:1% 36 8 | 3 uftad qiid 7 fo afearsti &1 o9 =i
qrflerdt § SAR-<Ierd BidT 2, forsiert areior &= 4 |
T T 99 oo 9ER) €0 (LFPR) &1 ! g foham 2 | afgemd sfdfe
FHISATEAT & SR FRITA § IMHA BT &, q1 99 GRRefdar § gar g &, af o

e o fHeher ST 2 |

few T g 3 "= I 6 AR R, AEfaiRad get & s ST

(%)  SRISFTI %l GICATya shifS | 1

@) o9 9 YrfERl g (LFPR) &1 319 fafiau | 2

(M 2000 — 2019 F T TWAT 7 I oW 5 AFfeR! e (LFPR) ¥ «ifies
AT 9T fequft HifsTa | 3
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33. Read the following text carefully :

The Labour Force Participation Rate (LFPR) measures the percentage of
the population either employed or actively seeking employment in a
nation. In India, the labour force grew by 99-2 million persons between

2000 — 2019. The labour force grew from 396-3 million to 495-5 million.

During 2012 — 2019, the labour force grew without a matching increase in

employment, leading to higher unemployment.

The gender disparity in India’s labour market is notable with women’s
LFPR at 32:8% in 2022, significantly lower than men’s LFPR at 77-2%.
This is a major reason for India’s overall low LFPR, which is lower than

the global average of 47-:3%.

During 2000 — 2019, rural LFPR declined by 14:1%, compared to a 3-5%
decline in urban areas. This trend reversed between 2019 — 2022, with
rural LFPR increasing by 6% (especially among rural women) and urban
LFPR by 2:1%. These shifts suggest that fluctuations occur in women’s

labour market participation, particularly in rural areas.

This significantly affected the overall LFPR. Women join the workforce

during economic hardships and move out when conditions improve.

On the basis of the given text and common understanding, answer the

following questions :
(a) Define unemployment. 1
(b)  Write the meaning of Labour Force Participation Rate (LFPR). 2

(¢c) Comment upon the gender disparities in rural and urban Labour

Force Participation Rate (LFPR) during 2000 — 2019. 3
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“3rTd e A s, Jfe araem & An] Tt foren =, 9 a8 fore
ot Srefazrareert o fAIq g aetaR |Tferd 21 weh 8 17
T AT U T o | TEHA & ? A qohl g 3704 3T hl 48

HINT | 4
IeerE T foh sguefts AR ford Terr feuefiar =mm & =T 7 | 2

AT
W H ST G o G TR TR 10 3 Gumi < el 9 giomat
T HET H == HI | 4

IRd § el & sl H8Rcd o THRcT sl T Ueh-Ush 3Tl
é”\an 2

58/5/2

# 26| Page o



34.

(a)

(b)

(1)

(i1)

(1)

(i1)
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“Import substitution policy, if not applied carefully, can be a

double-edged sword for any economy.”

Do you agree with the given statement ? Justify your answer

with valid arguments. 4

State how multilateral trade is different from bilateral

trade. 2
OR

Discuss briefly, causes and consequences of the tax reforms

initiated during economic reforms in India. 4

State one example each of a Maharatna and a Miniratna

company in the public sector in India. 2
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